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8 DIPLOMA IN FIRE SAFETY

Term-End Examination
December, 2010
BSEI-032 : PRACTICAL FIREMANSHIP
Time : 3 hours Maximum Marks : 100

Note : (i) All questions are compulsory except optional parts
of Q.No. - 2 and 3.
(ii) No answer can be repeated again.

PART-A

1.  Question Number 01 : - Fill in the blanks one mark
each. - 1x12=12

(@) Ventilation is necessary to take out the
and toxic gases out from the
covered buildings.

(b) For fighting fires of burning liquids a froth
: like substance is used called

(c) Aqueous Film Forming Foam extinguishers
class of fire.
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Chemical foam is formed by reacting
aluminium sulphate and

Foam may be defined as filled
bubbles.
The concentration % of A.F.F.F foam in fire

extinguishers is %.

Expansion Ratio of Low expansion foam is
up to

pH value is a measurement to express the
acidity or properties of a liquid.

Capacity of water carriers or portable pump
isup to litres.

Water mains are of all three main groups,
trunk, secondary and mains.

Service reservoir include over head tanks
and

The pillar hydrant is a combination of
ground and the stand pipe.



PART -B
Multiple Choice "~ 1x6=6
(@) Foam compound should always be kept in
(i) Open Container
(i) On the roof
(iii) Sealed Container
(iv) In the fields
(b) Foam containers should be kept in :
(i) Freezer
(ii) Dry and Cool place
(iii) Ovens
(iv) Any of the above
(c) Foam contents should contain sediment’s %
of not more than.
@ 2% @i 0.5%
(i) 23% @iv) 0.23%
(d) Usually the capacity of Dam lorries is :
(i) 6000 to 12,000 litres
(i) Up to 9000 litres
(i) 3,500 to 4,500 litres
- (iv) 9,000 to 12,000 litres
(¢) pH value of foam concentrate is :
(i 6to85 (@ 2to35
(iii) 4 to 6.5 -~ ({v) 7t095
(f) Major appliance for fire fighting is :
(i) Fire Tender (ii) Fire pump
(i) Fire Extinguisher (iv) All of above
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PART -C
Right or Wrong (v or X) 1x10=10

(a) Foam is used for extinguishing Class C fire.

()
(b) PH value of water is 01 ( )

(c) The pressure may be defined a force acting
on unit area. ( )

(d) After use, see that the hydrant valve is
closed, so that there will be no water
leakage. ()

() FB—2branch is used for making water mist

' during fire. ( )

() In water relay - open circuit the supply
pump discharged the water in to a portable
water dam through close deliveries. ( )

(g) The height of stand post column from
ground level to the crown is 750 m.m. ()

(h) One of the sign for building collapse is
building of wall. ()

(i) Inhydraulics - 01 H is equal to 10 p. ( )

(i) Occurance Book is used for maintenance
records of tools. ( )

2.  Short Answer Type 07 out of 10 will be attempted.6 7—42
X/=
(a) What are the duties of overall fire service
In-charge ?

(b) Write down the characteristics of a fireman ?
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(c) Define ventilation during fire fighting ?
(d) What is foam ? Write briefly about
_ mechanical foam ?

(¢) How many types of foam concentrates uses
is fire services ?

(f) . Write on storage of foam concentrates ?

(8) What is the test procedure for a foam

" making branch ?

(h) Define the advantages of water carriers ?

() What is hydrant ? Write a brief note on
pillar - post hydrant ?

() Define relationship between pressure and
head ?

3. Long Answer Type 03 out of 05 will be attempted :
3 wpe of 4 10x3=30

(@) What are duties of fireman after reaching
the fire ground ?

(b) What are foam making equipments ? Write
a note on different types of foam making
equipments ? -

(c)  Define the different types/methods of water
relaying ?

(d) Write a note on testing, care and
maintenance of hydrant ?

() What are hydrant gears and their

characteristics ?
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3. fEddasgdmym = 10x3=30
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